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(For the candidates admitted from 2008-2009 onwards)

B.Com./B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2017.

Sixth Semester
MANAGEMENT ACCOUNTING
Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1 What do you know by management accounting?
Guererrento samrésdlwed LpHl Ballm deug) wrg)?

2. Mention any two objectives of management
accounting.
Cooreman samsduden gCasand @Q\m Crréshiser
updl GHG .

3. Write any two turnover ratios.

gGsanib @ s eldgrser LD erpg.




10.

What is liquid ratio?

Birenw elgid erammmed ereven?

Give the meaning of fund flow statement.
B @ L oiflsens eremuidlen QunmeT &ms.
Mention any two sources of funds.

B8 epevmnisar gCaaib @ ey ener (GINTEICES
Define budget.

BHES S sdlen cuanyefladsamiid &ms.

Name any two functional budget.

uenflgmr Bl

SlLmigellean  @rewriger  QuUuwieny
GNIOF:S :

Narrate marginal costing.

eflafliby Flenew Qeavey UHH GHIINGS.

What is margin of safety?

ungsmiy edefliby erenmme eremen?
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11

12.

(a)

(b)

(a)

PART B — (5 x 5 = 25 marks)

Answer ALL questions.

- What are the advantages of management

accounting?
Cuenaren saréadudear  pearmwadr  LHM
T(PGIS. :

Or

Explain the tools and techniques of
management accounting.

Cuevmerrentn SEWTS S WOl 6o

2 g&laeEnh Lund efeurl.

&6 & (@rpLd

Find out the current liabilities: of apple
company limited, if current ratio is 5.5 : 1,
quide ratio is 4 : 1 inventory is Rs. 30,000.

pUller  fpeiagder  pLUY  GQurmliyser
ereueuaney erammi Lemeu(Hid aeucsamand: Game(H
sar(®y. By g 5.5:1 lengey eldsw
4:1 syadlmuy . 30,000.

Or
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(b) A trader purchased goods both on cash as
well as on credit. The following particular
are obtained from the books.

Rs.
Total purchases , 3,00,000
Cash purchases 30,000
Purchase returns 51,000
Creditors at the end 1,05,000
Bills payable at the end 60,000
Reserve for discount on creditors 8,000

Calculate average payment period.
eflwirumd NGRS SAE, Caenauwime
Qamerpsemen Qyréswnrseyb SL_GT&HELD
Qumdlpri.  oeurs  sevsE  ghsallaBHa
Yeeu(pLd Saeu ST Hlenl &6 QLDDE).

(1.
Qurss Qaerpged 3,00,000
Qyréa Qamerapse ; 30,000 -
Qamerapse HmLiub 51,000
sLapCant (per® @nuien) 1,05,000
QrgisgishEiu wrm &0 (ar® @ndudsd) 60,000
sLaipCaT sifleyssnen &L 8,000

gynefl Heqisg sreld s (L.
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13.  (a) Calculate funds from operations from the

information given below as on 31 March
2017,

(i) Net profit for the year ended 31.3.17
Rs. 6,50,000

(1)) Gain on the sale of building Rs. 35,500

(ii)) Goodwill appears in the books at
Rs. 1,80,000 out of that 10% has been
written off during the year.

(iv) Old machinery worth Rs. 8,000 has
been sold for Rs. 6,500 during the year.

(v) Rs. 1,25,000 have been transferred to
the general reserve fund.

(vi) Depreciation has been provided during
the year on machinery and furniture at
20% whose total cost is Rs. 6,50,000.

Slemeumid saeucsalellhbg i 31-1b @periq.en
& @b eTeucuerey eram sanmad (s,

@) 31317 wpuyw oerer < erig HETear By
- @eruib . 6,50,000 ’

(1) slgL eApusmenuie fangs < HTUID
eB. 35,500
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(b)

@Gii) em. 1,80,000 BHEALIWIHESTET wHULITE
LSBESHD 2 6Terg). <de 10% sleuns
SAHS Gl 6 TSI L G-

(iv) . 8,000 wgerer LW QuiBlrd
. 6,5000@ eflpuaer Qaiwiul L g

W) . 1,25,000 Quimgy

REHSHILILLS).

sTUADHSTS

(vi) Qupdyd LHMID amnso@saTs 20%
GsuinrarsSHHE REESILLLE.  DABE
Qg WL €. 6,50,000.

Or
From the following information you are

required to calculate net profit and cash

from operations.
Rs.

Opening stock 10,000

Sales 50,000
Expenses 10,000
Purchases 30,000

Closing stock 15,000
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Qermeumb sseudsaflalmbgl HlsT @emub wHmiLd

Qrrés L b sam(Hdly..
1.
gleuss s7s@ 10,000
efpuear 50,000

Qeeayser 10,000
Qarerpse 30,000
[ EREDEC 15,000
14. (a) You are required to prepare a production

budget for the half year ending June 2017
from the given information.

Product  Budgeted Actual stock  Desired stock
sales in on 31.12.2016 on 30.06.2017
quantity (units)
S 20000 4000 5000
il 50000 6000 10000
soer 2017  pged o.amer 6 Lorrg,réjg)@é;a;nm
o pusH B HL ofsms sumilss § uaflas
u@®Emmi. -
QummLs. efpuener 26T ENLD UITET CaeneuLimenr
& 3 [T Fr&slmuL Fr&d mLL
(S @®eT) 51.12,16 30.6.17
S 20000 4000 5000
'F 50000 6000 10000
Or
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(b) The income and expenditure precast for
March of August 2017 are given below.

Month Sales Purchase Manufacturing Manufacturing Office Selling

Credit Credit Wages Expenses expensesexpenses
March 60000 36000 9000 3500 2000 5000
April 62000 38000 8000 3750 1500 5000
May 64000 330(50~ 10000 4000 2500 4500
June 58000 35000 8500 3750 2000 3500
July 56000 39000 9500 5000 1000 3500
August 60000 34000 8000 5200 1500 4500

(1) Plant costing Rs. 16,000 is due for
delivery in July payable 10% on
delivery and the balance after 3 moths.

(i) Advance tax of Rs. 8,000 is payable in
March and June.

(i1i) Creditors allow 2 months credit and
debtors are paying one month late.

(iv) Expenses are lag for one month.
(v)  Opening balance of cash Rs. 8,000.

Prepare cash budget.
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wrrE s Psevl 2017 apyw o grer

rghisEpsstar eurey dewe) upar sanflly &G

sruuL_(heTerg).

LIgL  &Lar sLar - 2HusH 2HuSEH s ehuman
elpuener QasTaTpsD  Fnedl Geaser Uewaisar Gswaser
wrrr're'rA 60000 36000 9000 3500 2000 5000
GLiged 62000¥ 38000 8000 3750 1500 ‘5000
Guw 64000 33000 10000 4000 2500 4500
e 58000 35000 8500 3750 . 2000 3500
oeene 56000 39000 9500 5000 1000 3500
<gsal. 60000 34000 8000 5200 1500 4500

@) e 16,000 wHiymLw eBAd Lrme
orssdled  Gup  Ceuearrguigl. mEMme
wrssHe Sigar wHGed 10% CGsrengwb
Be 3-0rshsEnsEE W@ 0Fasseb.

(1)  pensaliqCu Qeqysgibd eufl ep. 8,000 wrmé
LHML  goar  wrsEseld  CFNSS
Gouamr(Hid.

(i) sLaBCsrm 2 DTS SIEUBTEIPLD
sL_anmeflaer i LOTSLD &0&g)LD
Qegusgdenmer.

(iv) Qeeweiser 1 wrgb sS85 AsassLILHL.

(V) seuss Qrrss Gmuy . 8,000.

Qprés HF HLb swnflés.
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15.

(a)

®

From the following information find out the
amount of profit earned during the year
using the marginal costing technique. Fixed
cost Rs. 2,50,000 variable cost Rs. 10 per
unit selling price Rs. 15 per unit output level
75,000.

afliby Qeewey 2 sHenw LweTLHSS emeumHDd

seaicsallalmps Qs BTG
Couanrigw @eruib sarsH(Ha. Hlae Cewa|ser

FUL LU

. 2,50,000 wrmd Qeeweysear m. 10 e
paMnE elhuaman clene ep. 15 @m ASDE.
o HusH eramrenildsans 75,000.

Or
Calculate break even point and profit.
’ Rs.

Sales ) 6,00,000

Fixed expenses 1,50,000

Variable cost :

Direct material 2,00,000

Other variable cost 80,000

Direct labour 1,20,000
10 S.No. 1358

16.

b7

sflglo  Hlevas  Laraf Lﬁg’)g]Lb Qerusams
sass(Hs. ;
.

ApLenas 6,00,000

Hlanew Qeeaser 1,50,000

ML ClF6|&56T : .

Crirg. Qummer 2,00,000

G wryb saay 80,000

Crirg. 2 ey 1,20,000

PART C — (3 x 10 = 30 marks)
- Answer any THREE questions.

Distinguish  between cost accounts and

management accounts.
oLés oo  sasdugsen  GCueramreno
sasHugsgn  @erCu  odrer  Geaumurhsmer

GOLA®Hs.

The following information is given about Sun
Pharma Ltd. for the year ending 315t Dec. 2016.

Stock turnover ratio 6 times

Gross profit ratio
Sales for 2016

] 20% on sales
Rs. 3,00,000
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Closing stock in Rs. 10,000 more than the opening
stock.

Opening creditors Rs. 20,000
Closing creditors Rs. 30,000
Trade debtors at the end Rs. 60,000
Net working capital Rs. 50,000

Find out :

(a) - Average stock

(b) Purchases

() Creditors turnover ratio

(d) Average payment period

(e) Average collection period

(f) Working capital turnover ratio.

31.12.2016 @puu edrer sregsdhstar Geaumib
BEaIRSMeT g6 LML Bimicuend Qar( &g erers)

Fr5@ sHE s 6 wparp
Gwrgs @aru eN6swb edpuemende 20%
2016-&sman eflpLienar e, 3,00,000

Qmél asr6E LHLY geuss arsden Loﬁuas)u afl
. 10,000 oiflaib.

gleués sLatpCam en. 20,000
Qnié s_afbCsi ap. 30,000
@mé eQwruny sLemeflser 60,000
Bl&r perL_panm wpged 50,000
12 S.No. 1358

18.

SETHS ().

<) ayref sysdmuL

sLabCsMT spHE affsD

B

(
(<) Qsmerapsen
(
(

) ggmefl QEQISEID STeld
(2o) sgymefl uGell&@b ST
(21) peLpenp (p5e SPHE S5

The following is the comparative balance sheet of
Prarthana Ltd. as on 30t June 2016 and 30t June
2017.

Balance Sheet

Liabilities 30.6.16 30.6.17 Assets 30;6.16 30.6.17

Share capital 1,80,000 2,00,000 Goodwill 24,000 20,000
Reserve fund 28,000 36,000 Buildings 80,000 72,000
Profit and loss a/c  39,000. 24,000 Machinery 74,000 72,000
Trade creditors 16,000 10,800 Investments 20,000 22,000
Bank overdraft 12,400 2,600 Inventories 60,000 50,800

~ Provision for Debtors 40,000 44,400

taxation 32,000 34,000 Cash 13,200 30,400

Provision for

doubtful debts 3,800 4,200

3,11,200 3,11,600 3,11,200 3,11,600
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Additional information :

(a) Depreciation charged on machinery
Rs. 10,000 and on buildings Rs. 8,000

(b) Investment sold during the year Rs. 3,000.

(¢) Rs. 15,000 interim dividend paid during
Jan. 2017.

(d) Taxes paid during the year Rs. 30,000
Prepare

(i) A statement of changes in working
capital and

(i) Fund flow statement.
Qyrigamm  SOQLLger @UILG @iy Hlanews
GHlanu 30.6.2016 LOHMID 50.6.2017-&@
sTULL (HeTerg).

- Quirgtiyser 30.6.16 30.6.17 Qemggisser 30.6.16 30.6.17
LI (&6 1,80,000 2,00,000 menwdiy 24,000 20,000
sy 58 28,000 36,000 sigLmsear 80,000 72,000
@eomu plL sewdE 39,000 24,000 Quidyo 74,000 72,000
auanfls sLafh G 16,000 10,800 wssS® 20,000 22,000
auradl Guoeeuamrupmy 12,400 2,600 spsflmoy 60,000 50,800

QUESHL_6T

aufgsmen sLamaflser 40,000 44,400
281580 32,000 34,000 Qgmssn 13,200 30,400
255G 3,800 4,200

3,11,200 3,11,600 3,11,200 3,11,600
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Fa.(NBE) HHEUGLSET :

(=) Qupdrsdpsner  Gsiwmand 5. 10,000
&g L 55D . 8,000-1b sawsdlL Ll L g).

(@) wsshsar <ips umLsHD @ 3,000-&@

epsliLl L.
(@) QeLssre umstgmuwts . 15000 geeurf

2017-6v qupmIsLILILL g|.
(/) em. 30,000 cuflwins Db <=4 6riq 60 sUL LU LG
SWITT&S.

1) poLwpon Wsdle gHUBL LTHDEIGET

ummw OIU_L_QUEHGHRT
1) B el sidsms.

A factory is currently working to 50% capacity and

“produces 10000 units. Estimate the profits of the

company when it works at 60% and 80% capacity.

At 50% working raw material cost increases by 2%

and selling price falls by 2%

At 80% working, raw material cost increased by

5% and selling price falls by 5%.
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At 50% working capacity, the product cost Rs. 180
per unit and is sold at 200 per unit.

The unit cost of the Rs. 180 is made lip as follows.
Material 100

Labours 30

Factory over head 30 (40% fixed)

Administrative overhead 20 (50% fixed)

2@® Gsmfinsree 50% Spaier sHGumrg 10,000
SwGseT 2 pusd Qeldlng. <ig 60% wHmw 80%
gpaiLear 2 atugHulder FHULLTOD Siger @emuid
GTEUGLGTEY GTETLIGNS el GEHALD.

50% dngiar Geuemer Gewyd  Curg apels
Qump_safler oi_sab 2% 2 widpg. Cuaid elHumen
eflene 2% GapmEmg,.

80% dneLen Ceswe Gewwybd Gumg epals
Qurmlseflar <iLssb 5% 2 wirdlpg Cuoeaib eApLemer
eflenaw 5% Gapmd ).

50% gopeen Geuewew GQawujd Cumg Qumrmaflen
DL s . 180 womid elduemen eflene . 200
AEHQULD (1 SOF D& 2_eiTerg).

. 180 e elenay GetmeumLommy.

Qumper em. 100, 2 aniplin] em. 30,

Aemp  smene  GuopGsweyser .  30-(40%
Hlenewimeng; )

Bireuns Qeaay . 20 (50% Hlenevwireng)
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20.

The competing companies A and B Ltd. produce
and sell the same type of product in the same
market. For the year ended March 2017 their
forecasted profit and loss account are as follows.
ALtd. B Ltd.

Sales 3,00,000 3,00,000

Less: Variable cost 2,00,000 2,25,000

Fixed cost 50,000 2,50,000 25,000 2,50,000
Estimated profit 50,000 50,000

You are required to calculate :

(a) Profit volume ratio, break even point and
margin of safety of each business.

(b) Sales volume at which each business will
earn a profit of Rs. 30,000.

A wpgo B eemm Q@ Hlpeuamsesd @Gy
mn(é,]rﬂurraﬂr Qun@Llsemer 2pusd Qelig)
spensul@damar. Qm Hmeuapd wrrs 2017
WPl 26TeT  yaTgHETEr  Qery L
e sanfllienu G smélaper.
ALtd. B Ltd.
aflpuenen 3,00,000 3,00,000

&fl&s LMD Qeevay 2,00,000 2,25,000

Hlanew Ggevey 50,000 2,50,000 25,000 2,50,000

wAUGLGUL L Gerud 50,000 50,000
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ser (B9l

(=) Qaru elpuear e9dsb, @eoru BLLipn Laraf
wHmID urgsTULY eflefiby LGS,
(=) @ran® HneuamiseEnd . 30,000 Qemru pLL

ereucuerey eflmuaer Qeuiw Geuamib.
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